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Writing Equations in Point-Slope
/ FOrm pages 200-205)

Point-Slope | For a given point (x4, y1) on a nonvertical line with slope m, the point-slope form of a
Form of linear equation is
a Linear Y —y1=m(x — xq).
Equation The equation of a vertical line through a point at (x4, y4) is x = x3.
EXAMPLES
A Write the point-slope form of an equation = B Write the point-slope form of an equation
of the line that passes through (2, 3) and of the line that passes through (0, 3) and
has a slope of 5. 4, 0).
Yy —Y1=mX— Xxq) Point-slope form slope m = Y2 — Y1
y—3=5Kk-2  Replacex; with 2, y; with 3, e
and m with 5. _Z:gor—%
An equation of the lineisy — 3 = 5(x — 2). Y = ys =m(x — xq) Point-slope form

y-3=-3x-0  Let(xs,ys) =03

y—3=—%x

PRACTICE

Write the point-slope form of an equation for each line passing through the
given point and having the given slope.
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1. (-1, -4),m = 3 2. (9,7, m=— 3. 3,-6),m =3
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Write the point-slope form of an equation for each line.
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7. the line through points 8. the line through points 9. the line through points
at (=7, —8)and (2, —7) at (5, —8) and (2, —5) at (=6, —8) and (5, —8)

B UM Standardized Test Practice VU AL R point-slope form of an equation of
the line that passes through (3, —3) and has a slope of 1?

Ay—-3=x—-3 By+3=x-3 Cy=x Dy—-3=x+3
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